
INSTALLATION INSTRUCTIONS

PACKAGE CONTENTS TOOLS

DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installation and the use of Rally Innovations products. Rally Innovations products are sold 
as decorative accessories and should not be relied upon as protection for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system 
(air bag) deployed by impact should not be modified by any aftermarket Light Bar or Skid Guard without first consulting the vehicle manufacturer. Rally Innovations, a subsidiary of Pentech 
Automotive assumes no liability for injury, loss, incidental or consequential damages in the event of a collision or roll over.

Rally Innovations P/N:

Baja Designs PN:

Application:

7/16” Socket and Wrench
5/32” Hex Key

Rev. 9/16

QTY QTY
2

RI-LCN001

44-7002

Light Conversion

Replace Baja Designs mounting brackets with Rally 
Innovations brackets. Ensure that the tabs face forward.

Attach Squadron assemblies to front bumper cover. 
Fasten with OEM hardware or included 1/4” hardware. 
Wire, test, and reinstall fog bezel, splash guard, or 
bumper cover.

Remove the fog bezels, splash guard, or front bumper 
cover to gain access to the fog lights. Disconnect and 
remove fog lights.

For vehicle-speci�c instructions, please contact 
Rally Innovations for more info.

info@rallyinnovations.com
(714)-884-0057

Baja Designs Squadron LEDs
2 Light Conversion Brackets

(2) Pigtail Adapters (excl. Wiring Harness)
2 Baja Designs Connector Kit
 

4 1/4”-20 x 1” Hex Bolt
4 1/4”-20 Hex Nut

(1) Wiring Harness (excl. Pigtail Adapter) 8 1/4” Flat Washer
4 1/4” Lock Washer

3 4

21


